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I. a-) commutahve note o Problem4 ! ThinkK of the
b) ({) Problem3 - set model /Froblew\ as doubling The vwmbe,r: of
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(w) redtangular array
c) That division. is The opposite operation of muthplication

L. b) rectangular array commutative Properby of mult.
¢) distributive property
e) commutahve property

3, &) rec{-ayxgular array model showing 3x5 = 5% 3
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&) Show 3(H+3) = (3x4) + (3x5)
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4. a) commutative property of mult. e) leﬁplfca:ﬁue \‘dewh'-h{

5 To MULTIPLY & number by 5,

6.

b) additive identity

) associabive property of mutt.

<) associahve property of addihion ¢) dishibvhve property of

d) mvihplicahive identity

Mv l‘tt‘ph‘cd‘fm cver addihon

TAKE HALE THE NUMBER and MULTIPLY BY 10

(For an odd number liKe 17, ore cam-find 16 X5 and add 5)

(x5 = 2 x 10

= 3 x |0 = 30 Feally using associahve ProPo-(lmV[-t,
6x5 =(3x2) x5 = 3x (2x5) = 3x10

g§x5 = HXI0 = HO

7x5§ = 6bXxXx5 + &6 = 3x|{0 45 = 3045 = 35
l2x5 = 6x 0 = 60
23 X5 = 22.X5 + 5 = [(X(O+S=HO+S:HS
g4 x5 = H2 x 10 = H20

24 x 15 = 24 x (10+45)

(2u x 10) + (24 x 5) &~ distnbutive prop
240 + (i_:_i x 10)

240 + (1zx 10) = 24O + |20 :



M. TO MULTIPLY 4 humbet by 4,
TAKE Lo TIMES THE NUMBER and SUBTRACT THE NvM BER

g axu = (o= x4 =(oxw) = (Ixi) = 4o~k = 36
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q x33 = 330 —33 =297 ReMove x X X X
qx%9 = 890 -89 =80|

c) one; Yyes

e) Problem 5 q x I8
Problew € 26 X 9

(o — I8 = |62 M
q x 285 = 260—25 = 225 cano

non

8. o) cxg7xa = 5x(2x87) = (5x2)X 87 = o x g7 =&79
4 ]
comm assoc
b) 4 x I3 x25 = (laxq)xzs = Bx(nxzs) = |3x|00=
1 7
Covwm\ oSS0
g l6x = lox (lo+1) = (1ex10) + (lex1) = leo+16 =7
dishibuhve
4) 17 x 30 = 17 x(3x10) ; (17x3) x 1o = 51 x 10 =G0
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